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4. Show that the sequence defined by a; = 3 and a,+; = 6 — — is increasing and bounded above. Find its
™
limit.
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5. If the series Y a, has a partial sum of s, = a1 find a4 and the sum of the series.
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19. Find the sum of the series

oo 22n+1




7. Which of the following series is convergent?
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10. Find the Maclaurin series for the function

(a) f(z)=In(3 —2x)
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23. Find a power series centered at x = 0 for the given function function and determine the radius of conver-
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24. Find the Taylor series for the function f(z) =/ at a = 16.
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26. Evaluate the integral /
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25. Find the Maclaurin series for the function f(z) = 2% In(1 + 2%).
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3. Find e bﬂf“’ Ot 4he Curve
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&‘. Iind the area of the surface obtained by rotating the curve y = z%, 0 < x < 2 about the
T-axis.

Sy =dmT Sﬂﬂ-g/x),)l + EaYy)K”"afy

ylx)=3x*

3
:;hf\ %'%m‘r ol x o(ELg t%_i%uﬁif
o uﬂh—q[;b)
L
145
=\ i’ du
36 )
#:ﬁ_‘_-?_-_/ua/)‘ J"I"’).
. \




Q. Find the of the surface obtained by rotating the curve z = /2y =%, 0 < y < 1
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